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QUESTION 1

Which of the following is a characteristic of a subnet created with a /31 prefix? 

A. There is no broadcast address on the network. 

B. The address is only used as a loopback address. 

C. This specifies a single host address. 

D. The address is only used for router IDs. 

Correct Answer: A 

 

QUESTION 2

What next-hop should be used on CR1 to configure a default route to router R1? 

A. 10.2.3.2 

B. 10.2.3.1 

C. 192.168.2.0 

D. 10.1.1.1 

Correct Answer: A 

 

QUESTION 3

What next-hop address should router R2 use to reach a host on 192.168.2.0/24? 
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A. 10.2.3.2 

B. 10.1.1.1 

C. 10.2.3.1 

D. 10.1.1.2 

Correct Answer: B 

 

QUESTION 4

Which of the following is a characteristic of the system address? 

A. A physical interface address. 

B. A logical address on the router not corresponding to any specific interface. 

C. May have any prefix value. 

D. A management IP address. 

Correct Answer: B 

 

QUESTION 5

Which of the following is a characteristic of the IP layer? 

A. Provides a connectionless data transmission service. 

B. Provides physical interconnection of network devices. 

C. Provides reliable transfers of data. 

D. Provides services equivalent to the OSI data link layer. 

Correct Answer: A 
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